ACTIVITIES CONSTRUCTIONS

1). Draw a line segment AB=6cm and divide it in the ratio 2:3.

Rubrics

1. Draws a line segment AB=6 cm. -3 marks
2. At ‘A’ drawn an acute angle and marks A1, Az, As, A4, As at equal distances. -3 marks

3. Joins As to ‘B’. -3marks
4. Draws a line A,P parallel to AsB. -3 marks

5. Decides ‘P’ is the required point on AB which divides it in the ratio of 2:3. -3 marks

2). Construct a right angled triangle whose hypotenuse and one side measures 5¢cm and
4cm respectively. Then construct another triangle whose sides are 3/5 times of the
corresponding sides of this triangle.

Rubrics
1. Draws a line segment BC=4cm and Draws an angle of 90° at B. -3 marks
2. Taking ‘C’ as centre, hypotenuse Scm draws an arc to intersect at A and joins A to C.
-3 marks
3. Draws line making an acute angle with side BC and divides it in five equal intervals
and marks as B, By, B3, B4, Bs. -3 marks
4. Join Bs to C and draws a parallel line B3C toBsC which meets at C -3 marks
5. Also draws a parallel line AC to AClsuccessfully. -3 marks

3). Draw a pair of tangents to a circle of any convenient radius which are perpendicular
to each other.

Rubrics
1. Draws a circle of any convenient radius with ‘O’ as centre. -3 marks

2. Takes a point ‘A’ on the circumference of the circle and draws a perpendicular to OA
at the point A. -3 marks

3. Draws a perpendicular to OB at the point B. -3 marks 4. Marks the point ‘P’ where
both the perpendicular. -3 marks 5. Identifies that the tangents are perpendicular.

-3 marks
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